Directorate of Admissions & Competitive Examinations



University of Kashmir

NAAC Accredited Grade A++ University Srinagar - 190 006, Kashmir, J&K

Dr. Fayaz Ahmad
Professor Zoology & Director DACE

Main University Campus
Hazratbal, Srinagar

SelectionNotificationNo.: 23-PGof2025
PG, Integrated, Management and Diploma Programmes
(Under General/Self-finance quota/NRI Sponsored)
(Session 2025).

- The Candidates, whose particulars are mentioned in the selection lists appended to this notification, have been provisionally selected for admission to PG, Integrated, Management and Diploma Programmes under General/Self-finance Quota/NRI Sponsored offered by this University purely on the basis of Entrance Test score, CMAT/UGAT Score and/or Qualifying Merit as per admission policy.
- II) Provisionally selected candidates are required to download their "Admission Form" from the official website of the University under "Admissions" tab on the home page and click on "Submit Admission Form for 1st Semester" from 16th September 2025 (Tuesday) by entering Roll Number or Form Number and DOB.
- III) Fresh candidates (who haven't applied earlier) shall visit the Directorate of IT&SS for filling the application form and then only they can download the admission form.
- IV) The provisionally selected candidates shall complete the admission form and visit the concerned Department for completing the admission formalities by or before (Wednesday), 17th September 2025 (4:00 p.m.) on working days only.

Important Note:

The Heads/Directors/Coordinators/Principals, of all the concerned Departments/Institutes/Centres/Campuses/affiliated Colleges, who are the Chairpersons of Departmental Admission Committee, shall ensure that all the provisionally selected candidates possess the minimum required eligibility. The same may be verified with reference to the original documents/certificates of the candidate. The admission form of only eligible candidates should be accepted online and provisionally selected candidates allowed depositing online fees.

The admission of the candidates is subject to:

 Production of all relevant original documents [Marks Certificate/Transcript of qualifying examination, Character and Provisional certificates, Reserved Category Certificate, Migration Certificate (wherever applicable)].

Note: Since result has been recently declared and most of the candidates have to seek exit from their colleges, they may be allowed to submit NAD generated 'semester-wise marks cards' till they get the Official Transcript from the

- University.
- 2. Production of eligibility cum revival of registration/migration form, wherever applicable, alongwith prescribed fee;
- 3. Fulfilling of minimum required eligibility conditions to be verified by the concerned Department/Centre/Institute/Campus/College;
- 4. Clearance be sought from the Academic Section in respect of candidates having qualified examination from Universities/Institutions other than Universities/Institutions of Jammu, Kashmir and Ladakh;
- 5. Production of an affidavit sworn in before 1st Class Judicial Magistrate stating
 - ✓ I am not on rolls of any Institution for any regular programme;
 - ✓ All the submitted certificates/documents are genuine and authentic;
 - I shall strictly adhere to the rules and regulations of the University of Kashmir in toto;
 - I understand that in case of any misinformation or concealment of any information or indiscipline or misconduct, my admission to the programme shall be cancelled and I shall be subjected to legal action;
 - ✓ I submit this affidavit under free will without any pressure, compulsion, fraud or that:
- 6. The provisionally selected candidates shall approach, alongwith the admission form and all the relevant certificates and documents (original and self-attested Xerox copies) to the concerned Department/Institute for verification of documents/ certificates and online acceptance of Admission form for depositing the prescribed Fee via online mode upto 17th September 2025.
- 7. Any provisionally selected candidate failing to complete the admission formalities upto 17th September 2025 (4:00 p.m.) shall forfeit his/her right to admission.
- 8. Please note that all the Notifications shall be made available only on the Official website of the University and notices shall not be published in print media nor shall any candidate be informed individually.
- 9. Notices uploaded on the official website of the University shall be deemed to have been served to the candidates.
- 10. For fee details please click on the link below: https://www.kashmiruniversity.net/Download/Course%20Fee_2025.pdf

Sr.	Form No.	Roll No.	Name	MM	МО	%age	Ent. Pts.		
	GENERAL QUOTA								
	MA Geography (Main Campus)								
	OM								
1	25105903	530209	GOWHER NAZIR	10	7.04	70.40	25.25		
2	25104711	530153	TANZEELA AYOUB	10	7.48	74.80	25.00		
3	25108015	530148	ABRAR ANWAR BHAT	10	6.48	64.80	24.50		
4	25106977	530006	ZUBAIR UL AHAD DAR	10	7.99	79.90	24.00		
	MA Linguistics (Main Campus)								
OM									
1			TOYIBA LATEEF	10	7.24	72.40			
MA Economics (Main Campus)									
OM									
1	25106241	220315	TAWFEEQ MUZAFFAR TANKI	10	8.30	80.30	32		
MA Public Administration (Main Campus)									
OM									
1	25106625	320018	SHAHID SANAM	10	7.6		39		

Diploma in Bioinformatics (Main Campus)									
OM									
1			ULFAT ZAHOOR	10	6.90				
ı	5-Vear Ir	ntegrated N				th Campu	c)		
	5-Year Integrated Masters in Business Administration (IMBA) (North Campus) OM								
1			SUMAIRA AZIZ	500	395	79.00	34.99		
•			MA Psychology (GDC, Baran		030	7 3.00	04.55		
			OM	ilalia)					
1	25102184	270040	INSHA BASHIR	10	7.60	76.00	17		
2	25106775	270128	KHAN ZARKA	10	7.35	70.35	17		
3	25104131	270053	NASIR FAROOQ	10	6.84	68.40	15.5		
	20101101	2,0000	M Sc Zoology (GDC, Sopo		0.0 1	30.10	10.0		
			OM	. • ,					
1	25107010	440515	MUSAIB MANZOOR	10	8.19	81.90	29.25		
2	25102222	440966	BURHAN SHABIR SHEER GOJREE	10	7.40	70.40	28.75		
3	25100908	440644	AALIYA JAN	10	6.65	66.50	28.75		
			ers in Business Administration						
		.,,,,,	OM	<u> </u>	3-7				
1			SYED FAIZAN MASOODI	0	0	0			
			M.Ed. (Main Campus)						
			OM						
1			SHABROZ QADIR		72%				
2			RUBEENA MANZOOR		70%				
3			ANJUM ARA		70%				
	Masters	s in Compu	ıter Applications (Islamia Colleg	e of Sci	ience & C	Commerce	e)		
		•	OM				,		
1			SEHEAB HUSSAIN	10	6.35	63.50			
2			MUSAIB BIN REYAZ	10	6.11	61.10			
			3-Year LLB (KCEF Pulwan	na)					
			OM	<u> </u>					
						46.55			
1			MUZAFAR AHMAD DAR	10	4.655				
			SELF-FINANCE QUO	ГА					
			M Sc Bioresources (Main Car						
1			SABIRA NISAR	10	6.58	65.80			
			MA English (Main Campu						
			FATIMA SHABIR						
1	25100144	120265		10	7.29	72.9	18.25		
			MBA-FM (Main Campus						
			MOHAMMAD TAHIR BHAT						
1	25103488	680306		10	6.99	69.9			
2	25107762	680011	MEHVISH HAMEED	10	7.20	72			
	MTTM (Main Campus)								
1			SABIRA NISAR	10	6.58	65.80			
			MA/M Sc Geography (Main Ca	ampus)					
1	25103711	530152	SEERA JAN	10	6.40	64	8.25		
2	25103715	530078	FALAHAT BIN MOHI UD DIN	10	6.41	64.1	4.5		
M Sc Chemistry (Main Campus)									
	January (mam vampao)								

25102401	440439	ANISA ZAHOOR	10	7.00	70	20.75
20102101	1 10 10 2	/ ((1) O) (2) ((1) O) (7.00	, 0	20.70

NRI SPONSORED								
5-Year BA-LLB Programme (Main Campus)								
1	25333059		SADAF MUKHTAR	500	306	61.2		
4-Year B Tech in Computer Science Engineering with specialization in Artificial Intelligence								
(IoT, Zakura Campus)								
1	25333057		SYED HAYAAN ALI BUKHARI	500	426	49.2		

Director, DACE

No.: F23 *(Sel-23-PG- etc.)* DACE/KU/25 Dated: 15-09-2025